					Engineer's	Estimate	Complete Gener
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Unit Price
4	1001	Pull Box, Medium Duty, 13"x 24"	8	Ea	\$618.00	\$4,944.00	\$800.00
21	1001	Foundation, Residential Post Top	33	Ea	\$990.00	\$32,670.00	\$1,100.00
44	1001	Street Light Cir Riser with pull box	3	Ea	\$850.00	\$2,550.00	\$1,500.00
		Removal Existing Ovhd Luminaires					
46	1001	and Bracket arms only	16	Ea	\$63.50	\$1,016.00	\$140.00
051-							
MOD/19		Post Top Luminaire, 75-80w Acorn					
9	1001	Globe, Type 3 480v LED	33	Ea	\$1,600.00	\$52,800.00	\$1,150.00
125-		Conduit, 2-1/2", Trenchless					
MOD	1001	Installation 3 wire	539	Ft	\$39.00	\$21,021.00	\$40.00
153	1001	Pole Fiberglass Lamp Post 15'MH	33	Ea	\$900.00	\$29,700.00	\$1,700.00
191	1001	Pole to be Wired 3 wire	33	Ea	\$175.00	\$5,775.00	\$275.00
19	1001	Controller Pole mount - 480v 3wire	1	Ea	\$3,800.00	\$3,800.00	\$7,050.00
194	1001	Trenchless 1-1/2" Cable-In Duct	2,241	Ft	\$28.00	\$62,748.00	\$16.00
		Wall Pack Underpass Luminaire 66w					
Special	1001	LED	4	Ea	\$460.00	\$1,840.00	\$800.00
Special	1001	1" PVC conduit underpss	150	Ft	\$5.00	\$750.00	\$20.00
		(3) #10 awg cu shielded conductors					
Special	1001	(underpass)	170	Ft	\$5.00	\$850.00	\$3.30
		Subtotal:				\$220,464.00	
		Contingency (15%)				\$33,069.60	
		GRAND TOTAL:				\$253,533.60	
	% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE					
	% DIF	FERENCE WITHIN LOWEST BIDDER					
		(0) Addendum Ackldgmnt. Completed?					
		Contract Compliance No.					31-4366382 (exp.
	Bid Proposal Signature Affidavit Completed?						· •
	Bonding Company (Form B2)						
		Proposed Subs listed?					

					Engineer'	s Estimate	Complete Gener
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Unit Price
		Bid Affidavit Complete? (Form B9)					
	Prime	& (applicable) Subs Prequalified to Bid?					

Complete General Coi 1221 E. Fifth Ave. Columbus, OH 43219 Lee A. Guzzo, COB (614) 258-9515

lguzzo@completegen@ Peter A. Guzzo, Secre

					Engineer's	Estimate	al Construction
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
4	1001	Pull Box, Medium Duty, 13"x 24"	8	Ea	\$618.00	\$4,944.00	\$6,400.00
21	1001	Foundation, Residential Post Top	33	Ea	\$990.00	\$32,670.00	\$36,300.00
44	1001	Street Light Cir Riser with pull box	3	Ea	\$850.00	\$2,550.00	\$4,500.00
		Removal Existing Ovhd Luminaires					
46	1001	and Bracket arms only	16	Ea	\$63.50	\$1,016.00	\$2,240.00
051- MOD/19		Post Top Luminaire, 75-80w Acorn					
9	1001	Globe, Type 3 480v LED	33	Ea	\$1,600.00	\$52,800.00	\$37,950.00
125-		Conduit, 2-1/2", Trenchless					
MOD	1001	Installation 3 wire	539	Ft	\$39.00	\$21,021.00	
153	1001	Pole Fiberglass Lamp Post 15'MH	33	Ea	\$900.00	\$29,700.00	\$56,100.00
191	1001	Pole to be Wired 3 wire	33	Ea	\$175.00	\$5,775.00	\$9,075.00
19	1001	Controller Pole mount - 480v 3wire	1	Ea	\$3,800.00	\$3,800.00	\$7,050.00
194	1001	Trenchless 1-1/2" Cable-In Duct	2,241	Ft	\$28.00	\$62,748.00	\$35,856.00
		Wall Pack Underpass Luminaire 66w					
Special	1001	LED	4	Ea	\$460.00	\$1,840.00	\$3,200.00
Special	1001	1" PVC conduit underpss	150	Ft	\$5.00	\$750.00	\$3,000.00
		(3) #10 awg cu shielded conductors					
Special	1001	(underpass)	170	Ft	\$5.00	\$850.00	\$561.00
		Subtotal:				\$220,464.00	\$223,792.00
		Contingency (15%)				\$33,069.60	\$33,568.80
		GRAND TOTAL:				\$253,533.60	\$257,360.80
	% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE					1.5%
	% DIF	FERENCE WITHIN LOWEST BIDDER					N/A
		(0) Addendum Ackldgmnt. Completed?					N/A
		Contract Compliance No.					9/14/17, MAJ, 6056)
	Bid Proposal Signature Affidavit Completed?						yes
	Bonding Company (Form B2)						Arch Insurance Co.
		Proposed Subs listed?					no subs

				-	Engineer'	s Estimate	ral Construction
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
		Bid Affidavit Complete? (Form B9)					yes
	Prime	& (applicable) Subs Prequalified to Bid?					yes

nstruction Co.

eral.com

tary

					Engineer's	Estimate	Asplundh Const	truction Corp.
Ref. No.	Item No.	Description	Qty.	Units	Unit Price Extension		Unit Price	Extension
4	1001	Pull Box, Medium Duty, 13"x 24"	8	Ea	\$618.00	\$4,944.00	\$615.00	\$4,920.00
21	1001	Foundation, Residential Post Top	33	Ea	\$990.00	\$32,670.00	\$1,285.00	\$42,405.00
44	1001	Street Light Cir Riser with pull box	3	Ea	\$850.00	\$2,550.00	\$1,585.00	\$4,755.00
		Removal Existing Ovhd Luminaires						
46	1001	and Bracket arms only	16	Ea	\$63.50	\$1,016.00	\$150.00	\$2,400.00
051-								
MOD/19		Post Top Luminaire, 75-80w Acorn						
9	1001	Globe, Type 3 480v LED	33	Ea	\$1,600.00	\$52,800.00	\$1,215.00	\$40,095.00
125-		Conduit, 2-1/2", Trenchless						
MOD	1001	Installation 3 wire	539	Ft	\$39.00	\$21,021.00	\$30.00	\$16,170.00
153	1001	Pole Fiberglass Lamp Post 15'MH	33	Ea	\$900.00	\$29,700.00	\$1,625.00	\$53,625.00
191	1001	Pole to be Wired 3 wire	33	Ea	\$175.00	\$5,775.00	\$215.00	\$7,095.00
19	1001	Controller Pole mount - 480v 3wire	1	Ea	\$3,800.00	\$3,800.00	\$3,965.00	\$3,965.00
194	1001	Trenchless 1-1/2" Cable-In Duct	2,241	Ft	\$28.00	\$62,748.00	\$25.20	\$56,473.20
		Wall Pack Underpass Luminaire 66w						
Special	1001	LED	4	Ea	\$460.00	\$1,840.00	\$980.00	\$3,920.00
Special	1001	1" PVC conduit underpss	150	Ft	\$5.00	\$750.00	\$19.05	\$2,857.50
		(3) #10 awg cu shielded conductors						
Special	1001	(underpass)	170	Ft	\$5.00	\$850.00	\$4.75	\$807.50
		Subtotal:				\$220,464.00		\$239,488.20
		Contingency (15%)				\$33,069.60		\$35,923.23
		GRAND TOTAL:			ſ	\$253,533.60		\$275,411.43
	% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE						8.6%
	% DIFFERENCE WITHIN LOWEST BIDDER							7.0%
(0) Addendum Ackldgmnt. Completed?								N/A
Contract Compliance No.							11-2536791 (ex	pired, MAJ, 0473)
	Bid Proposal Signature Affidavit Completed?							yes
	Bonding Company (Form B2)							Travelers
		Proposed Subs listed?						yes

					Engineer's	s Estimate	Asplundh Cons	struction Corp.
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Unit Price	Extension
		Bid Affidavit Complete? (Form B9).						yes
	Prime	& (applicable) Subs Prequalified to Bid?						yes
							1. Interested parties completed; 2. Bond forms nor POA. Asplundh Construc 481 Schrock Rd. Columbus, OH James R. Hardiman Gregory W. Holma Richard Jennings, F Mgr. (614) 580-0681 rjennings1@asplun	tion Corp. , V.P. n, V.P. Region Supv./ Proj.

					Engineer's	Estimate	U.S. Utility
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Unit Price
4	1001	Pull Box, Medium Duty, 13"x 24"	8	Ea	\$618.00	\$4,944.00	\$739.59
21	1001	Foundation, Residential Post Top	33	Ea	\$990.00	\$32,670.00	\$1,237.68
44	1001	Street Light Cir Riser with pull box	3	Ea	\$850.00	\$2,550.00	\$2,072.84
		Removal Existing Ovhd Luminaires					
46	1001	and Bracket arms only	16	Ea	\$63.50	\$1,016.00	\$250.00
051-							
MOD/19		Post Top Luminaire, 75-80w Acorn					
9	1001	Globe, Type 3 480v LED	33	Ea	\$1,600.00	\$52,800.00	\$1,349.22
125-		Conduit, 2-1/2", Trenchless					
MOD	1001	Installation 3 wire	539	Ft	\$39.00	\$21,021.00	\$40.86
153	1001	Pole Fiberglass Lamp Post 15'MH	33	Ea	\$900.00	\$29,700.00	\$1,798.74
191	1001	Pole to be Wired 3 wire	33	Ea	\$175.00	\$5,775.00	\$345.94
19	1001	Controller Pole mount - 480v 3wire	1	Ea	\$3,800.00	\$3,800.00	\$5,156.14
194	1001	Trenchless 1-1/2" Cable-In Duct	2,241	Ft	\$28.00	\$62,748.00	\$25.93
		Wall Pack Underpass Luminaire 66w					
Special	1001	LED	4	Ea	\$460.00	\$1,840.00	\$985.31
Special	1001	1" PVC conduit underpss	150	Ft	\$5.00	\$750.00	\$21.63
		(3) #10 awg cu shielded conductors					
Special	1001	(underpass)	170	Ft	\$5.00	\$850.00	\$6.98
		Subtotal:				\$220,464.00	
		Contingency (15%)				\$33,069.60	
		GRAND TOTAL:				\$253,533.60	
	% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE					
	% DIF	FERENCE WITHIN LOWEST BIDDER					
		(0) Addendum Ackldgmnt. Completed?					
		Contract Compliance No.					34-1606689 (exp
	Bid Proposal Signature Affidavit Completed?						
	Bonding Company (Form B2)						North America
		Proposed Subs listed?					

					Engineer's	s Estimate	U.S. Utility
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Unit Price
		Bid Affidavit Complete? (Form B9) & (applicable) Subs Prequalified to Bid?					 Stated there were 2 none, 2. Surety 2000 (surety forms. U.S. Utility Contracto 701 Kaderly Dr. Columbus, OH 43228 Kathryn A. Chlebows Donald Taylor (614) 471-7559
							dtaylor@usutilitycont Jennifer Marquardt, S

					Engineer's	Estimate	Contractor
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
4	1001	Pull Box, Medium Duty, 13"x 24"	8	Ea	\$618.00	\$4,944.00	\$5,916.72
21	1001	Foundation, Residential Post Top	33	Ea	\$990.00	\$32,670.00	\$40,843.44
44	1001	Street Light Cir Riser with pull box	3	Ea	\$850.00	\$2,550.00	\$6,218.52
		Removal Existing Ovhd Luminaires					
46	1001	and Bracket arms only	16	Ea	\$63.50	\$1,016.00	\$4,000.00
051- MOD/19		Post Top Luminaire, 75-80w Acorn					
9	1001	Globe, Type 3 480v LED	33	Ea	\$1,600.00	\$52,800.00	\$44,524.26
125-		Conduit, 2-1/2", Trenchless					
MOD	1001	Installation 3 wire	539	Ft	\$39.00	\$21,021.00	\$22,023.54
153	1001	Pole Fiberglass Lamp Post 15'MH	33	Ea	\$900.00	\$29,700.00	\$59,358.42
191	1001	Pole to be Wired 3 wire	33	Ea	\$175.00	\$5,775.00	\$11,416.02
19	1001	Controller Pole mount - 480v 3wire	1	Ea	\$3,800.00	\$3,800.00	\$5,156.14
194	1001	Trenchless 1-1/2" Cable-In Duct	2,241	Ft	\$28.00	\$62,748.00	\$58,109.13
		Wall Pack Underpass Luminaire 66w					
Special	1001	LED	4	Ea	\$460.00	\$1,840.00	\$3,941.24
Special	1001	1" PVC conduit underpss	150	Ft	\$5.00	\$750.00	\$3,244.50
		(3) #10 awg cu shielded conductors					
Special	1001	(underpass)	170	Ft	\$5.00	\$850.00	\$1,186.60
		Subtotal:				\$220,464.00	\$265,938.53
		Contingency (15%)				\$33,069.60	\$39,890.78
		GRAND TOTAL:				\$253,533.60	\$305,829.31
	% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE					20.6%
	% DIF	FERENCE WITHIN LOWEST BIDDER					18.8%
		(0) Addendum Ackldgmnt. Completed?					N/A
		Contract Compliance No.					. 2/19/18, FBE, 6739)
	Bid Proposal Signature Affidavit Completed?						yes
	Bonding Company (Form B2)						in Specialty Insurance
		Proposed Subs listed?					no subs

					Engineer's	s Estimate	Contractor
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
		Bid Affidavit Complete? (Form B9).					yes
	Prime	& (applicable) Subs Prequalified to Bid?					yes
							addendums but are
							lidn't upload any

r Co.

ki, President

ractors.com

ecretary

					Engineer's	Estimate	Jess Howard El
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Unit Price
4	1001	Pull Box, Medium Duty, 13"x 24"	8	Ea	\$618.00	\$4,944.00	\$1,500.42
21	1001	Foundation, Residential Post Top	33	Ea	\$990.00	\$32,670.00	\$2,145.75
44	1001	Street Light Cir Riser with pull box	3	Ea	\$850.00	\$2,550.00	\$1,968.45
		Removal Existing Ovhd Luminaires					
46	1001	and Bracket arms only	16	Ea	\$63.50	\$1,016.00	\$360.30
051-							
MOD/19		Post Top Luminaire, 75-80w Acorn					
9	1001	Globe, Type 3 480v LED	33	Ea	\$1,600.00	\$52,800.00	\$1,133.24
125-		Conduit, 2-1/2", Trenchless					
MOD	1001	Installation 3 wire	539	Ft	\$39.00	\$21,021.00	\$84.13
153	1001	Pole Fiberglass Lamp Post 15'MH	33	Ea	\$900.00	\$29,700.00	\$1,511.63
191	1001	Pole to be Wired 3 wire	33	Ea	\$175.00	\$5,775.00	\$192.30
19	1001	Controller Pole mount - 480v 3wire	1	Ea	\$3,800.00	\$3,800.00	\$4,706.73
194	1001	Trenchless 1-1/2" Cable-In Duct	2,241	Ft	\$28.00	\$62,748.00	\$30.98
		Wall Pack Underpass Luminaire 66w					
Special	1001	LED	4	Ea	\$460.00	\$1,840.00	\$841.45
Special	1001	1" PVC conduit underpss	150	Ft	\$5.00	\$750.00	\$23.19
		(3) #10 awg cu shielded conductors					
Special	1001	(underpass)	170	Ft	\$5.00	\$850.00	\$7.60
		Subtotal:				\$220,464.00	
		Contingency (15%)				\$33,069.60	
		GRAND TOTAL:				\$253,533.60	
	% DIFFERI	ENCE FROM ENGINEER'S ESTIMATE					
	% DIF	FERENCE WITHIN LOWEST BIDDER					
		(0) Addendum Ackldgmnt. Completed?					
	Contract Compliance No.						31-4405752 (exp.
	Bid Proposal Signature Affidavit Completed?						· •
	Bonding Company (Form B2)						
		Proposed Subs listed?					

					Engineer's	s Estimate	Jess Howard El
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Unit Price
		Bid Affidavit Complete? (Form B9)					
	Prime	& (applicable) Subs Prequalified to Bid?					
							1. Fixed \$0.01 roundi
							Gand Total, 2. Subs, I
							Paul Peterson C.C. ina

Jess Howard Electric (6630 Taylor Rd.. Blacklick, OH 43004 (614) 861-1300

Jeonathan F. Howard, Mary A. Spangler, Ma marys@jesshoward.cc

					Engineer's	Estimate	ectric Company
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
4	1001	Pull Box, Medium Duty, 13"x 24"	8	Ea	\$618.00	\$4,944.00	\$12,003.36
21	1001	Foundation, Residential Post Top	33	Ea	\$990.00	\$32,670.00	\$70,809.75
44	1001	Street Light Cir Riser with pull box	3	Ea	\$850.00	\$2,550.00	\$5,905.35
		Removal Existing Ovhd Luminaires					
46	1001	and Bracket arms only	16	Ea	\$63.50	\$1,016.00	\$5,764.80
051-							
MOD/19		Post Top Luminaire, 75-80w Acorn					
9	1001	Globe, Type 3 480v LED	33	Ea	\$1,600.00	\$52,800.00	\$37,396.92
125-		Conduit, 2-1/2", Trenchless					
MOD	1001	Installation 3 wire	539	Ft	\$39.00	\$21,021.00	
153	1001	Pole Fiberglass Lamp Post 15'MH	33	Ea	\$900.00	\$29,700.00	,
191	1001	Pole to be Wired 3 wire	33	Ea	\$175.00	\$5,775.00	
19	1001	Controller Pole mount - 480v 3wire	1	Ea	\$3,800.00	\$3,800.00	,
194	1001	Trenchless 1-1/2" Cable-In Duct	2,241	Ft	\$28.00	\$62,748.00	\$69,426.18
		Wall Pack Underpass Luminaire 66w					
Special	1001	LED	4	Ea	\$460.00	\$1,840.00	-
Special	1001	1" PVC conduit underpss	150	Ft	\$5.00	\$750.00	\$3,478.50
		(3) #10 awg cu shielded conductors					
Special	1001	(underpass)	170	Ft	\$5.00	\$850.00	\$1,292.00
		Subtotal:				\$220,464.00	\$315,725.15
	Contingency (15%)					\$33,069.60	\$47,358.77
	GRAND TOTAL:					\$253,533.60	\$363,083.92
	% DIFFERENCE FROM ENGINEER'S ESTIMATE						43.2%
% DIFFERENCE WITHIN LOWEST BIDDER (0) Addendum Ackldgmnt. Completed?							41.1%
							N/A
Contract Compliance No.							10/18/18, MAJ, 6108)
Bid Proposal Signature Affidavit Completed?							yes
	Bonding Company (Form B2)						Federal Insurance Co.
	Proposed Subs listed?						yes

					Engineer's Estimate		ectric Company
Ref. No.	Item No.	Description	Qty.	Units	Unit Price	Extension	Extension
		Bid Affidavit Complete? (Form B9)					yes
Prime & (applicable) Subs Prequalified to Bid?							yes
							ng on Contingency &
							Blue-J Surveying &
							active

Co.

President mager

<u>)m</u>

Engineer's Estimate	Complete General Construction	Asplundh Construction Corp.	U.S. Utility Contractor	Jess Howard Electric Company
\$253,533.60	\$257,360.80	\$275,411.43	\$305,829.31	\$363,083.92